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Sr Questions Answers Choice

1 In north western Europe's coastal areas:
A. Prawns are famous in the world
B. Cod is famous in the world
C. Haddock is famous in the world
D. Fish is not important

2 Japan meets her meat requirements from:
A. Fish
B. Beaf
C. Mutton
D. Camel meat

3 Consumption of fish in African countries is:
A. Very abundant
B. Abundent
C. Very little
D. Too little

4 The coastal areas of Norway are:

A. Most suitable for fisheries
B. Not suitable for fisheries
C. Suitable to some extent for
fisheries
D. Extremely unsuitable for fisheries

5 In the Continent of South America:
A. Peru ranks first in fish catch
B. Brazil ranks first in fish catch
C. Argentinaranks first in fish catch
D. Chileranks first in fish catch

6 In the World, greatest fish catch is done by:
A. United Kingdom
B. India
C. China
D. U.S.A

7 World's bulk of fish is caught :
A. In the Indian ocean
B. In the Mediterranean sea
C. In the Atlantic ocean
D. In the Pacific ocean

8 In per capita fish consumption in the world:
A. U.K ranks first
B. China ranks first
C. Japan ranks first
D. Ice land ranks first

9 Does food habits of people affects fishing:
A. Does not affect fishing
B. Affect on fishing
C. May affect fishing
D. Extremaely affect on fishing

10 For development of fishing industry:

A. Modern fish ports are necessary
B. Fish ports are not needed
C. Fish ports facility does not affect
D. Presence of fish ports are not
suitable

11 For development of fishing rugged coastal areas:
A. Are not suitable
B. Are extremely not suitable
C. Are most suitable
D. Does not effect

12 Oceans and seas where cold and warm current meet:

A. Are not suitable for fishing
B. Are most unsuitable for fishing
C. Are most suitable for fishing
D. Are extremely unsuitable for
fishing

13
Those sea coastal areas where rivers join:

A. Have abundant vegetation and
food matter
B. Does not contain any food

material
C. Not suitable for fisheries
D. Are deficient in sea food

14 For development of fisheries how much deep water is required ?
A. 600 feet deep water
B. 100 feet is enough
C. 10 thousand feet is most suitable
D. Depth has no effect



15 In cold climate, fish:
A. Perishers very soon
B. Never Perishers
C. Not Perishers very soon
D. Perishers soon


